2022 (A) @ oy

A SSC PART-ll (10th CLASS) L
CHEMISTRY GROUP-I by -/ A
.

TIME ALLOWED: 1.45 Hours SUBJECTIVE P2 | 145 =
MAXIMUM MARKS: 48 | 48 = A4S
NOTE: Write same question number _‘;.Z-,J:L,C;_{,J':“.G?g{ &J:/-.%Ja’»l/:}dlrgﬁs{(éb’dfﬁ -y

and its part number on answer book, as given in the question paper.

SECTION-I Jslo

2. Attempt any five parts. 10=2x5 o fe g lnble 8 240y
(i)  Write two macroscopic characteristics of Reverse reaction. -éf/ f._, Lsr“’._f ;ﬁsfc‘»;_,(u”'/ WSaJug s (i)
(i)  Why is equilibrium state attainable from either way? fa. Egl_eguwbuxﬁr-éi-)d{lf?ﬂﬁg' (i)
(i) How alcoholic functional group is identified? ?g.tlggfaﬁ l;i,:‘_:/..:uffﬁ_ﬁnm (iii)
(iv) Justify that organic compounds are used as food. st s ey bl Sups i S GO fan e ()
(v)  What is ketonic group? Write down the formula of acetone. Y fun&(w I ?§_g_§,,fj;{ (v)
(vi) Write down the dot and cross formulae of propane and n-butane. ..Ei,f_/ ;’unwrﬂ,ws Kc/-::fJ;t»qu,,; (vi)
(vii) Where are the proteins found? ?u'_rglgégu@/;f:':{ (vii}
{viii) Why are the ten amino acids essential for us? ?w&"’*u{é;m;ﬂﬂw {wiii)
3. Attempt any five parts. 10=2x5 _gi.}f.-,glzéilmégc.éf _3/:“Jlr
(i) Define the Lewis acid and Lewis base. 1+1 Sl siagd ()
(i) Define the pH. What is the pH of pure water? 141 fe_dnt pH S OL6 -y /A pH i)
(i) Differentiate between saturated and unsaturated Hydrocarbons. 1+ 1 _édf'w A s E U s S (i)
(iv) Why are the alkanes called "Paraffins"? 2 ?UEL%J[ “ A ﬁg' (iv)
(v) What is roasting? 2 ?.;.,i,"._f-i*m (v)
(vi) Write the difference between crude oil and residual gil. 1+1 _‘{_’UJ/'UKJ’U:‘U}::J A ST (i)
(vii) Write two uses of diesel oil. 1x232 el filgs (i
(viii) Write the raw material used in preparation of urea. 1+ 1 _cﬁ{{/‘fuuué_ﬂdwlu:dggu@g (vii)
4. Attempt any five parts. 10=2x5 -é{i@{.lﬁ'&lzlégc_éf _4/1‘Uir'
(i)  How acid rain increases acidity of the soil? ?Laglﬁ*f.ér/&;‘ffdiﬁidxi“ﬂ (i)
(i)  Write two different sources of air pollutants. -quer—i%J‘f’ u’r‘if.i:'ﬁ (i)
(iily  Write any two effects of global warming. _E el B K i)
(iv) What s ozone hole? Where was it noticed for the first time? A S e S lfUngein (V)
(v) What is cryptosporidium? What are its symptoms? 1+1=2 el Se Wil V)
(vi) How temporary hardness is removed by Clark's method? ‘-’{_-algd:ud_/u"b&d;,écu@.)’é—glf (vi)
(vii) What is the value of heat capacity of water? ol ey SelbdGFeaddy (i

How is it essential for us?
(viii) Write any two methods of prevention from e Fose updvinige Sia s fua s (vii)

waterborne diseases.

SECTION-II (s

NOTE: Attempt any two questions. 18=9x2 -Eég/.:yméamma.éf ke
5.(A) What are amino acids? 1+4=5 U b IIL i AR USEE 2o oy SURTARIFU. (D5

Explain that amino acids are building blocks of proteins.
(B) Write down any four macroscopic characteristics 1x4=4 -g—f_/f_-,l_m-‘"ygpug‘;gJg}fd/rf/d)fl_fkfli (<)
of dynamic equilibrium.
6.(A) What is auto-ionization of water? 1+4=5 “c_dyvhw‘lf”’ u*a..f/‘.: pH JJL., “c_qu“ b T TJOL (-6

How is it used to establish the pH of water?

(B) Explain the water pollution because of industrial waste. 1x4 =4 _é’yujfjﬁjlséeﬁd’_n{)gf/h { e
7.(A) What is petroleum? Describe any three fractions of petroleum. 2+3 =5 -L{/uk_ﬂ}ig}ﬁlofiul ‘.“;L_/ff:/‘; (N7
(B) Describe halogenation of alkanes in diffused sunlight. 1x4=4 _gEukad f‘»qdfdfur”wf b (&)
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PAPER CODE 2022 (A) @ A
NUMBER: 3481 SSC PART-II (10th CLASS) =

CHEMISTRY GROUP-I

e - _._,,f d/’{

TIME ALLOWED: 15 Minutes 15 = <y
MAXIMUM MARKS: 12 12= AF
Ed

A fF L LL):;DMC’:W&:?J,R.:.«/J:.;.J u;}l:ié._félr:f_gjff/:{(.éiﬁ_}lﬁ __g:?:‘f.f__J D . C:B A ..:—l_-’i.“:-gJ‘l-?LLJ'r/: il
oI Bl A S Sk AT A ATRBT IS 15 -NSUt $ 0 AP O3 (NP S S IV T B o i ~i5
Note: you have four choices for each objective type question as A, B, C and D. The choice -LJ,QJJJ::-:JHV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

OBJECTIVE (%22

Q.No.1

< /{Ulr

M, 38, == SNH, K, =2.86moldm’ Lt L Sl e JPuE e (1)
bz f UL EAE
(1) Nitrogen and hydrogen were reacted together to make ammonia N, + 3, —— 2NH;
K, =2.86moldm® What will be present in equilibrium mixture?
(A) NH, only NH, 8) N, , H, and NH, NH, 5 N, H,
(C)N, and H, only  H, s N, Gz (D) 1 only H, iy
(2) The conjugate base of H,PO, is: e AR HPO; (2)
(A) HPOYF (B) HPO; (C) POF (D) H,PO,
(3) Which one of the given is not a fossil fuel? ,‘Lu:"u,éj‘)wla.uzd_seﬂ (3)
(A) Coal 4 (B) Natural gas U2 (u5  (C) Biogas ¢, (D) Petroleum (-
(4) The functional group— CQOH is found in: ?:f_.lrl_pg‘l;ui’w": COOH_;JJ:& (4)
(A) Carboxylic acids j4<IL5¥  |(B) Aldehydes-—ii S ikl (G)Alcohols #0 (D) Esters 3%
(5) Oxidation of alkenes produces: -;."u:q?iy (! /[jl (5)
(A) Glyoxal Jiw (B) Oxalic acid 4217 (C) Formicacid 406 (D) Glycol ¥
(6) Photosynthesis process produces: i bl e JL yﬂ} ()
(A) Starch &t (B) Cellulose /&  (C)Sucrose i1~ (D) Glucose ¥
(7) Earth's atmosphere comprises 99% by volume _c‘-ﬁuﬂf/»&,«ﬂ.’: 09 ¥ AL (L J;G:f.f (7)
by two gases are:
(A) Nitrogen and ozone aisbsle/s At (B) Nitrogen and oxygen uf'( TalePs
(C) Carbon dioxide and oxygen ™ sl #1058 (D) Argon and oxygen J“J o7
(8) Which is not air pollutant? e ez (8)
(A) NO, (B) SO, () CO (D) N,
(9) Depending upon temperature variation, ?‘«‘;_ﬂfr‘:ﬁufy"fﬁgfﬁ;’r’glad&ﬁﬁf;/;; (9)
atmosphere is divided into ______ regions.
(A) One (B) Two » (C) Four b (D) Three &
(10) Water dissolves non-ionic compounds by: ?c_:.l."ﬁfd’c_;:u’g@ﬁﬂ;fiﬂut&l; (10)
(A) lon-ion forces /3 T.ef T (B) lon-dipole forces yﬁ’d;&lj_w"r"
(C) dipole-dipole forces iUy is-Jy i3 (D) Hydrogen bonding <4474
(11) A disease that causes bone and tooth damage is: ‘-‘?djlﬁd{_‘bﬁy}O/Lﬁvfjiu.?"b/ﬂux% (11)
(A) Fluorosis waﬁ (B) Hepatitis L,.fk‘ﬂj' (C) Cholera .2z (D) Jaundice @ty
(12) Crude oil is heated in the furnace upto: ' bl LELAS NS, (12)

(A) 300°C (B) 350°C

(C) 400°C (D) 450°C
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PAPER CODE
NUMBER: 3483
CHEMISTRY GROUP-

2022 (A)
SSC PART-Il (10th CLASS)

TIME ALLOWED: 15 Minutes OBJECTIVE (.2 215 = =
MAXIMUM MARKS: 12 12= AF
A oF L At f/fJ,ﬂh/wa‘d_-ulJ’_v‘JJ::‘_-J (_J;_."Jf Z J<:‘_L~£_.J*:";‘/z_éﬁ}f? (_)'""‘ E.2D o G B A Ui,—@b—é:dfrf -y

A5

LA < __.,trL);_,r'/_/"‘Ufg_f'._uﬂu.._/,a_g )()ub —?’”J"".hl‘l—-"f&l}l:-gfwl)’ ;_:-z_._? ey L é_f‘.'fu: 'Jn:‘..f‘:..._..fl &
Note: you have four choices for each objective type question as A, B, C and D. The choice - "f J’)j—....«wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve gquestions o n this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Earth's atmosphere comprises $9% by volume

by two gases are:

(A) Nitrogen and ozone sl £6

e

e Fpurtinad 99 KA UE e SUE /.

(B) Nitrogen and oxygen o= Tulefst

A A

M

(C) Carbon dioxide and oxygen ™ #ri»;ugwf 56 (D) Argon and oxygen ur?;f ToledT
(2) Which is not air pollutant? e iesba (@)
(A) NO, (B) SO, C) co (©) N,
(3) Depending upon temperature variation, y ﬁ’ i /"r"l/de’ Sl /" (3)
atmosphere is divided into _____ regions.
(A) One {i (B) Two » (C) Four /L (D) Three o
(4) Water dissolves non-ionic compounds by: “;.C@U’.»;gdﬁﬁ ngfTutJf; (4)
(A) lon-ion forces s o/ T (B) lon-dipole forces ;n,-U,;'Jli-J 7
(C) dipole-dipole forces ;HJ;’J;&U-L/!;;J‘G (D) Hydrogen bonding /i
(5) A disease that causes bone and tootidamage-is: “c;-df";-u'uf::ﬂufi.m_.«fiéu;‘lmlug)} (5)
(A) Fluorosis U (B) Hepatitis u'vﬂ_-g (C) Cholera .=z (D) Jaundice /6y
(6) Crude oil is heated in the furnace upto: ' et LA SN 8
(A) 300°C (B) 350°C (C) 400°C (D) 450°C
N, 4 3H, === 2NH; K. =2.86mol dm® -JiLbgy LS L"—(-G/”Hgoa’i:‘,‘?ﬂ'@}"f/t (7)
sz Y T AGK
(7) Nitrogen and hydrogen were reacted together to make ammonia N, + 3H, === 2NH,
K. =2.86moldm® What will be present in equilibrium mixture?
(A) NH, only NH, Js (B) N, , H, and NH, NH, st N, « H,
(C) N, and H, only  H,u» Ny I (D) H, only H, i
(8) The conjugate base of H,PO; is: -.:.u..._.JfKK’ H,PO; (8)
(A) HPOY {8) HPO; (C) POF (D) H,PO,
(9) Which one of the given is not a fossil fuel? e RS e it (9)
(A) Coal z (B) Natural gas uf C’uﬁ (C) Biogas U»{j: { (D) Petroleum ﬁf;
(10) The functional group— COOH is found in: e bl COOHHJJ”’ (10)
(A) Carboxylic acids 744 LL¢ (B)Aldehydes J¥LS4  (C)Aicohols #f (D)Esters 34
(11) Oxidation of alkenes produces: _¢_§.,___fd/TJ,ggr (1)
A) Glyoxal J” 73 (B) Oxalic acid 24f1/7 (C)Formic acid 4456 (D) Glycol Y3
(12) Photosynthesis process produces: _gbxiﬁc.fiyﬂ} (12)

(A) Starch &l (B) Cellulose sk

(C) Sucrose Jike (D) Glucose #F
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2022 (A)
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PAPER CODE
NWBER: 3485

CHEMISTRY GROUP-| Sy =4
TIME ALLOWED: 15 Minutes OBJECTIVE (/.2 215 =y
MAXIMUM MARKS: 12 12= AF

S ofi \ SIS B L R i i s P2 Esia L v s Q602 <t L5 D 41 © B A sl Ldiry 2

L2 ..fé_l_e_l,Ju-‘."jz‘.’Sfu’:_-wr’Jé_.)::di 5{);}') _fnu‘;ﬁ.__’*ﬁu:&uf:.uﬂg;i_j_é JaE L i._/c’::(u:?'n:g}z_._g ]
Note: you have four choices for each objective type question as A, B, C and D. The choice ..@/:'J’?;.:aulf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1

A Ay

(1) Oxidation of alkenes produces: by (f ﬁgf (1)
(A) Glyoxal S (B) Oxalic acid 421417 (C) Formic acid 46 (D) Glycol Jif
(2) Photosynthesis process produces: -:‘_t‘ﬁb:;.:,fl. /-:f';?} (2)
(A) Starch &l (B) Cellulose s (C) Sucrose ¥e (D) Glucose A
(3) Earth's atmosphere comprises 99% by volume -Qﬂurf/;:‘fﬁé 99 ¥ &1 L}IZ.JSJC.BULZ (3)
by two gases are:
(A) Nitrogen and ozone /sislsles At (B) Nitrogen and oxygen ™ /TJ:IJ':/"L'
(C) Carbon dioxide and oxygen u":f Tul)‘fbfféf}wK (D) Argon and oxygen Jf:%slu:ff
(4) Which is not air pollutant? ezl (4)
(A) NO, (B) SO, (C) co (D) N,
(5) Depending upon temperature variation, "Lfk’?‘-i A F!{iz(ﬂ_ $LEA(B)
atmosphere is divided into _______ regions.
(A) One {i (B) Two (C)-Four b (D) Three £
(6) Water dissolves non-ionic compounds by: %C@U’;;sdﬁ%{iﬁut&g (8)
(A) lon-ion forces 8/ T/ T (B) lon-dipole forces yﬁ’d{@li-d‘l’
(C) dipole-dipole forces p;’JgJiLJ;JU (D) Hydrogen bonding ..f/fvl,u’-uifl‘.
(7) Adisease that causes bone and tooth damage is: ?{_djL;.Ju:Q:JLﬁ?I}Lu?ww_’% (7)
(A) Fluorosis u’-"mf’ (B) Hepaiitis u::lfi.g (C) Cholera .2z (D) Jaundice (/i
(8) Crude oil is heated in the furnace upto: ' ?i;tlgl:‘?f_lff:«,fu( JJ"/}U/T:‘:/ (8)
(A) 300°C (B) 350°C (C) 400°C (D) 450°C
N, % 3By DN, K, =2.86moldm" bl LSS L e [P Pafs ()
Wz YA ASE
(9) Nitrogen and hydrogen were reacted together to make ammonia N, + 3H, e INH.
K, =2.86mol™dm’ What will be present in equilibrium mixture?
(A) NH, only NH, S/ (8) N, . H, and NH, NH, s N, « H,
(C)N, and H, only  Hy . N, S (D) H,only H; i
(10) The conjugate base of H,PO; is: —c ELLEKE H,POT (10)
(A) HPO; (B) HPO; (C) POy (D) H,PO,
(11) Which one of the given is not a fossil fuel? e GRS et diln (1)
(A) Coal ¥ (B) Natural gas Jf 44 (C)Biogas u’fj;’g (D) Petroleum (J:ﬁ
(12) The functional group— COOH is found in: i'q_r:tgggu:;;f- COOH@AJW (12)

(A) Carboxylic acids ;44 L5¥  (B)Aldehydes JXLS4k  (C)Alcohols #8 (D) Esters i

22(0bj)( X 3¢ ¥¢)-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A)

77
NUMBER: 3487 SSC PART-I (10th CLASS) (2
CHEMISTRY GROUP-| Sy S
TIME ALLOWED: 15 Minutes OBJECTIVE u“é/’,.-a? 2415 = =
MAXIMUM MARKS: 12 12= AF

S o | SN B e IR msr S s fsie L i Q62 L s D sl € B A 2Bl vy oS
TR _&’Lb&:ﬂ/(};u’:_:a‘lfa_,ﬂ.4 ,{JJ/’U _b’j—uﬁw?lzuﬁuf:uﬂd/i,/g S SN A TS T o i
Note: you have four choices for each objective type question as A, B, C and D. The choice _qﬁd’f/r:.- Uls~
which you think is correct, fill that bubble in front of that question number, on bukble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Which one of the given is not a fossil fuel? e RS e it (1)

(A) Coal 4 (B) Natural gas Z 05 (C)Biogas %, (D) Petroleum (23
(2) The functional group - COOH is found in: ?ﬁ—t%&,uﬁw’CCOOH..;sffg @)
(A) Carooxylic acids 334 LL¥ () Aldehydes 15161 (C)Alcohols 41 (D) Esters 172

(3) Oxidation of alkenes produces: ety i /:Ul (3)
(A) Glyoxal 708 (B) Oxalic acid 2241/ (C) Formic acid 4f%6 (D) Glycol /3
(4) Photosynthesis process produces: ~c bl ;J"Z yu‘?}} (4)
(A) Starch &k (B) Cellulose s (C) Sucrose nF (D) Glucose 141
(5) Earth's atmosphere comprises 99% by volume -ﬁ;ﬁ;urgzuﬁwf 99 K/z"’bfiiuﬁjc,wiﬁ (5)
by two gases are:
(A) Nitrogen and ozone ¢aislsl/s b (B) Nitrogen and oxygen u’J T/t
(C) Carbon dioxide and oxygen ¥l T 0 1 (DY Argdfiand oxygen F AT
(6) Which is not air pollutant? ez (@)
(A) NO, (B) SO, (C) co D) N,
(7) Depending upon temperature variation, fe U ¥ IS L;&A.JJ; $LEA @)
atmosphere is divided into ______ regions.
(A) One {I (B) Two s (C) Four s (D) Three &
(8) Water dissolves non-ionic compounds by: ?‘LCﬂxU’.:,,_:-nfﬁf:i l;f_x’:ffui:(}g (8)
(A) lon-ion forces 3/ e/ T (B) lon-dipole forces s i5-7T
(C) dipole-dipole forces yxﬁdgéti-dgél;‘ (D) Hydrogen bonding j}gu’wiﬂ
(9) Adisease that causes bone and tooth damage is: ?c‘..u’lkgdwf.pd/i_m,,rj[.u?lwlugé (9)
(A) Fluorosis %54 (B) Hepatitis (“tly  (C)Cholera .zt (D) Jaundice /iy
(10) Crude oil is heated in the furnace upto: ) ?cl_tigl[r)ﬁj/;;,}‘f L/-’&/%ﬁ;‘: (10)
(A) 300°C (B) 350°C (C) 400°C (D) 450°C
N, + 3H, —— 2NH, K. =2.86moldm® -ALMrESEGAL e LTl APt (1)
Wz A
(11) Nitrogen and hydrogen were reacted together to make ammonia N, + 3H, === 2MNH,
K, =2.86mol*dm® What will be present in equilibrium mixture?
(A) NH, only NH, i (B) N, , H, and NH, NH; 5 N, « H,
(C) N, and H, only H, s N, 7 (D) H,only H,wi7
(12) The conjugate base of H,PO; s - A AEE HyPO; (12)
(A) HPOY (B) HPO; (C) POF (D) H,PO,

22(0bj)( 7€ ¥ 7 ¥X)-2022(A)-50000 (MULTAN)
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CHEMISTRY GROUP-II f/»'«,.»f 5
TIME ALLOWED: 1.45 Hours SUBJECTIVE _¢Le 45 =
MAXIMUM MARKS: 48 48 = AF

NOTE: Write same question number -cc-aﬂai_{;.gm&“é Zw/f':}?»l/:}dirwa{d(qiﬁ o
and its part number on answer book, as given in the question paper.

SECTION-l .2

2. Attempt any five parts. 10=2x5 a{//yu:’ﬁl]l@tc,df *Z/Jfr
(i)  Describe chemical equilibrium. eleSEAEIEL ()
(i)  Derive units of K. for given reaction. H + I, = 2HI -u‘fr)“”_,—i.): K, iﬁu’fldxd‘:@- (ii)
(i) Define aromatic compounds and give an example. i :JlmU/J /"J;M Lf..@/ (iif)
(iv) What is Ammonical liquor? Give its use. &JJWIKJI “;Lf /gdﬁﬂ (iv)
(v) What are Alkyl radicals? Write its general formula. £dlmb VATVl "U“L»(ﬁ-,uJﬁl (v)
(vi) What are Ketones? Write down formula of Acetone. U bEIs S (vi)
(vi) What are essential and non-essential amino acids? e /Lfa.;ﬁlrll‘}/“lutﬂld’“ (vii)
(viii) Give an example of Disaccharide. - tlgy/afj'fﬂu qulz@fc_if «Lf :JU»JL,J,J- fdl; (viii}
How is it hydrolyzed into monosaccharides.
3. Attempt any five parts. 10=2x5 é/futffﬁlfl&c.df *3/"1}’}’
(iy  Define conjugate acid. Give an example. 1+1 =il :UVJ;U):JJ /"JMJJ’ ()]
(i) What are mixed salts? Give example. 1+1 e s WJ LAl (i)
(iil) Why are the Alkanes called "Paraffins"? 02 @arw’u/ 1 ff /ﬁ! (iii)
(iv) Give two uses of Ethene. 1+1 S JEL (Ethene) &1 (iv)
(v) Write definitions of Gangue and Metallurgy. 141 W u'“} /Jd )*"Jsiﬂ (v)
(vi) What is calcination process? Also give chemical equation. d 1 du’):,o Lasd/Jf LM;)AJJ;P (vi)
(vii) What is Roasting? Write chemical equation of Roasting Process. 1+ 1 el L B, S Y Loy (vi)
(viii) Write down the two uses of petroleum ether. 1+1 du‘f'{.fﬁwm./ f(f:/ (viii)
4. Attempt any five parts. 10=2x5 ixfuufﬁl/’létc,df -4/Jif
() Why ozone is not formed in lowest part of stratosphere? "c,.(f S umlu'a’_’)iﬁ Al )
(i) What are the effects of SO, gas in air? Z: Uin‘ul/iﬁf SO, we Sy (i)
(i) Write any two harmful effects of ozone depletion. &Q_,f/'a:uw»c,dfic:biuml (iii)
(iv) Why does temperature decrease in troposphere? S mﬂ:_)/ 2 /L,cf A ()
(v)  Wirite two disadvantages of hard water. _5/ fubuﬁniﬂmt (V)
(vi) What are industrial effluents? Give examples. -u:JJ»JL,- ?u:é.ry/u" x.bU: ekl (Vi)
(viiy  Why are pesticides used? ?L{?Z_ﬂdv}fu{;'i’b«é’? (vii)
(viii) Give a brief account on Fluorosis. L EeAUnA il

SECTION-II ¢n.
NOTE: Attempt any two questions. 18=9x2 ..éf//../ufﬁ Ulmc.df Y

5(A) What are carbohydrates? 14242 s lkelor?Sol Spibi i Fr S taE ()5
How monosaccharides are prepared? Give their characteristics.
(B) Describe a reversible reaction with the help 2+1+1 _J"/yu:d/ﬂ Idfdfig;.ﬂ_u&_il/jsidl? ()
of an example and graph.
6.(A) Define Lewis Acid and Base and 2+3=5 U7 5 ,/.»_wa..,lfx_wé J/Ju.nu/*w ()6
illustrate your answer with an example.
(B) Describe four effects of water pollution. 1x4 -éuu_,uwiu}m (*)
7.(A) Whatis Urea? Describe its importance. 1+4 _éubu' JJif "c,.:l/fc;l,»’ (N7
(B)  Explain the oxidation of acetylene. 2+ iuau,JJMwa 1 ()
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PAPER CODE 2022 (A) / a !@ Ay

NUMBER: 3 482 SSC PART-ll (10th CLASS) w

CHEMISTRY GROUP-I PO 7= 4
TIME ALLOWED: 15 Minutes OBJECTIVE (ﬂ/f,ﬂ? e 15 = oh
MAXIMUM MARKS: 12 12= /.U"

A L /U//FJJWJUV/;HLP_/J e QJ/l)cfé.}ci-Vﬂ—d[}’f/(é{d')’ " "df.f;.' D.C:B-A leiijéiJ'f/ =y
/;/.Jfr’u'l {;HJJ’//JJ’U‘UJ‘JLL/ }(Ju g’ﬁJf‘ka‘ulfBJ);ubuJﬂJﬁ_-/c’ Jo¥ L :’_./J;Ju;/bul.;a,u( L
Note: you have four choices for each objective type question as A, B, C and D. The choice ..Jf J’);_,Ulf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 = /ler‘

(1) When reaction cease to proceed the state is called ______ . -uggf o Jleu -L:w::u.?’ZT,g., /J"( G2 (1)
(A) Chemical equilibrium ¢S I (B) Dynamic equilibrium £ 1_CE13
(C) Static equilibrium (f/d:g I (D) Equilibrium constant :JJ%/U):/ f

(2) Acetic acid is used for: b UEIIE (2)
(A) Food preservation & & J5#/ /1.5 (B) Cure sting of bee &Ltk ;‘Lu"( i
(C) Manfacturing of bleaching powder Jld/g&d;..fgﬁ (D) Remove grease stain JLd bl oS

(3) Main component of natural gas is: ?‘LJILYUIZ(WJQJJ (3)
A CH, & B) CH, oy ©) CH, Fr O CH, &

(4) Which compound is not produced in the-halogenation of Methane? Qe w@ ’fi:fgfw/ (4)
(A) Chloromethane w:;::;yg (B) Chlorofarm pﬁwg
(C) Carbon tetrachloride %14 £ (D) Carbon black th¢78

(5) Pitch is black residue of: eedntf & (5)
A) Coke (B) Coal & (C) Coal Tar tJf (D) Coal gas %4

() Which one of the given compound is tasteless? ] IJK__.rCfu/ Ui its (6)
(A) Monosaccharides S5 Sy (B) Disaccharides Jfl/ﬂlj (C) Sucrose wF (D) Polysaccharides Jl’f}dg

(7) The percentage of Nitrogen inairis % by volume. -.f_.Jmé __ u’-;/"t@wt?:u!m (7
(A) 78.09 (B) 20.94 (C) 0.93 (D) 0.01

(8) Identify the green house gas: ZeedAngS @

A) NO, KU T35P 2 @) COo, ATk (SO AT o)L, gk

(9) Which gas causes depletion of ozone layer? ?g_.,.;:fK};{J?JJJu:JﬂJfJuf (9)

(A) CLy o (B) NH, L (C) CFCE, b (D) NO, 2ASTd3Pspt

(10) The permanent hardness of water is removed by using: St ﬁ’ e Jo L e S o Lp&ﬂu;‘! dg (10)

(A) Lime stone ;;J:ff‘f'u (B) Soda lime fﬂl 1% (C) Sodium-Zeolite .ir’ﬂ:;)éjr (D) Baking soda 1 S

(11) Liver inflammation disease is called: -u;r.;/f:(d:t:.j)rd//‘; (11)
(A) Jaundice (/6 (B) Hepatitis ﬂﬁf" (C) Night blindness ¢[le4/6=1; (D) Cholera -2z

(12) The formula of urea is: - Ukl (12)
(A) NH,COONH, (B) NH,CONH, (C) NH,CONH, (D) NH,COONH,

24(0bj)( ¥<)-2022(A)-40000 (MULTAN)



PAPER CODE 2022 (A) m A
NUBER: 3484 SSC PART-II (10th CLASS) ./

CHEMISTRY GROUP-I P AN 4
TIME ALLOWED: 15 Minutes OBJECTIVE u"s/w e 15 = &by
MAXIMUM MARKS: 12 12 = /J‘

S L /':L:';/'IJ,W&W‘C__JJ?..VJJLLI: u:?':zé_..v&‘_lxidlf/;{q{@fﬁ -u_!éf:{_) D C:B-A .:;UJ’.’.'-J?A;LJIV/; -y
I Lev]! _fé_l.v_l:)u.."//"’;j:(u:;u:‘(f;);.é )()3?’) -@Jﬂw?muﬁgﬂ&ﬁ"(fé_/}: Jo¥ L L/Ju;}ln.@]::.ug % i
Note: you have four choices for each objective type question as A, B, C and D. The choice - ;)Zd’famr
which you think is correct, fill that bubble in front of that qu estion number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Which one of the given compound is tasteless? ?t*ﬁu.ﬁf IJK.JCU(;.L;:J:J‘@» (1)
(A) Monosaccharides Ky (B) Disaccharides e Jli (C) Sucrose Ny (D) Polysaccharides Jl’i/‘d;_j
(2) The percentage of Nitrogeninairis % by volume. _g_Jmé’ . d’u,‘r'tﬁlsi;l%wﬂ (2)
(A) 78.09 (B) 20.94 (C) 0.93 (D) 0.01

(3) ldentify the green house gas: -£ du:lfiifu-'rui yu_’f (3)
(A) NO, 2T (B)CO, ¥ Tl ()50, xS Tl (D) e, ok

(4) Which gas causes depletion of ozone layer? e vk }ﬁ}?JJJusjsluifduf (4)
(A) L, (B) NH, Ly (C) CFCE, ek (D) NO, T3t

(5) The permanent hardness of water isiremoved by using: Sty 7 s JE L et Jgﬂ/u’fbgm,ﬁ dg (5)
(A) Lime stone ur’fﬂ (B) Soda lime fufir (C) Sodium-Zeolite 2753~ (D) Baking soda (v

(6) Liver inflammation disease is called. _u_rg"_/fdztgjjrd;.g (6)
(A) Jaundice i/ (B) Hepatitis u'*"cn:; (C) Night blindness ¢[le41K=1; (D) Cholera .z

(7) The formula of urea is: - Uri8l sy (7
(A) NH,COONH,  (B) NH,CONH, (C) NH,CONH, (D) NH,COONH,

(8) When reaction cease to proceed the stateiscalled ______. -uj&f . J/:JM _mus“;i@ /Lfc I$ne (8)
(A) Chemical equilibrium f-’;’u':{lu@{ (B) Dynamic equilibrium é?d:gfu(bffj
(C) Static equilibrium M@E | (D) Equilibrium constant _»,-,wm,.f t

(9) Acetic acid is used for: bl §2 ) (9)
(A) Food preservation &L i /E#V /.3 (B) Cure sting of bee &Ll F iﬁu’( i
(C) Manfacturing of bleaching powder u':djgd'.d;.@ (D) Remove grease stain L2 g{nL oS

(10) Main component of natural gas is: ?ﬁt_ufdufzr‘%u”-@;ﬁ (10)
() CH, &~ ®) CH, o ©) CHy, s (O GHy T

(11) Which compound is not produced in the halogenation of Methane? el ﬁ:‘jd/ﬂigwf (11)
(A) Chioromethane 2. | (B) Chioroform (.l

~ {C) Carbon tetrachloride b 2 (D) Carbon black %6

(12) Pitch is black residue of: eednlf & (12)

(A) Coke (B) Coal ¥ (C)Coal Tar tJ)Y (D) Coal gas 2
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PAPER CODE 2022 (A) @ ey

WMBER' 3486 SSC PART-lI (10th CLASS)

CHEMISTRY GROUP-I PR ART4
TIME ALLOWED: 15 Minutes OBJECTIVE u‘?/'iﬁ 215 = =y
MAXIMUM MARKS: 12 12= AF

Ae L /:L);.?l:ihﬁ‘:il.‘rﬂ._/lﬁ:«wc_gj: u:?bf:fé.;;':‘..tfﬁvilg;{;_éﬁlyf _ujé‘f__: D s CB:A ;‘,lﬁ;ﬁjkidlrﬁ -ty
4agdrTt KA e S T2 oty Bt I zord it anm S S Sk LS i I JEs
Note: you have four choices for each objective type question as A, B, C and D. The choice _;g)::g)"}‘:}aiﬂ_r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Which compound is not produced in the halogenation of Methane? bt Sk g U L ()
(A) Chloromethane u:‘;’uﬁ:;»f (B) Chloroform (;ng
(C) Carbon tetrachloride %01 <08 (D) Carbon black /¢

(2) Pitch is black residue of eednkd & (2
(A) Coke S (B) Coal & (C) Coal Tar JtJY (D) Coal gas 24

(3) Which one of the given compound is tasteless? b S (3)
(A) Monosaccharides e (B) Disaccharides Py éb‘ (C) Sucrose uk (D) Polysaccharides JI’lf‘d.;'

(4) The percentage of Nitrogen inairis % by volume. -q.[}mé - cﬁ:ﬁtrfh};&uﬂﬁ (4)
(A) 78.09 (B) 20.94 (C) 0.93 (D) 0.01

(5) Identify the green house gas: -_é s @JJ{J‘SMJ} (5)
(A) NO, £\ T3Pt B) CO TS (OO E (o) CL,

(6) Which gas causes depletion of ozone layer? E‘q...._m‘ﬁf;’JPJJJu;J;Ufgjuf (6)
By Ct, o (B) NH, s () CFCE, b (D) NO, 22 T{5eP %

(7) The permanent hardness of water is removed by using: fe bl P S S Lt 3}}%46‘&2 (7)

(A) Lime stone ¢ (B) Sodalime /iy (C) Sodium-Zeolite <#yE3» (D) Baking soda i3k

(8) Liver inflammation disease is calied: _ESshegrSE(®)
(A) Jaundice /by (B) Hepatitis u’}“felﬁ (C) Night blindness ¢[l=41§=l, (D) Cholera .z

(9) The formula of urea is: - Uragly (9)
(A) NH,COONH,  (B) NH,CONH, (C) NH,CONH, (D) NH,COONH,

(10) When reaction cease to proceed the stateis called __ -Vgg o s -L'fm,?:u.’.‘”ZQ ,'fuigld.f..,.e (10)
(A) Chemical equilibrium &/ 18 (B) Dynamic equilibrium (&4 1L713
(C) Static equilibrium (47516 (D) Equilibrium constant ¥ Jgk

(1) Acetic acid is used for: by (1)
(A) Food preservation & /b /7 (B) Cure sting of bee ),Zawﬁ.fiﬁf@l?
(C) Manfacturing of bleaching powder L,r.‘.'d;guﬁjg..f%} (D) Remove grease stain &L ¢Ehl 2

(12) Main component of natural gas is: ?‘L.J-fdu;j.'fﬂg\_}zah:’ (12)
(A) CH, o (B) C,H, (C) C,H, oo (D) CH,, 7
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PAPER CODE 2022 (A) /@7// ) A

NW'BER: 3488 SSC PART-Il (10th CLASS)

CHEMISTRY GROUP-I ool G
TIME ALLOWED: 15 Minutes OBJECTIVE J‘B/’.ﬂ? oo 15 = =y
MAXIMUM MARKS: 12 12= AS

Ao B L ):U:}U.'&l:?albfé?l;’::.‘/»c;u: U}j‘l)éé_)c'f_l/c.f.dlj’ﬁ{(égdjﬁ _ugéfé.: D.C:B:A :.l:fﬁ;wﬁl;f,d'rﬁ wndod
L2 4~ ‘KZ_VLJJ.?(/G/L): ;wr‘g_;i_):'f/: !’:JJJ:U _E’ﬂzrjwh‘,fﬁuﬁuf@ﬂ"d:".fé LK 4 L):J/u:}bu_i,}:_‘.g S
Note: you have four choices for each objective type question as A, B, C and D. The choice -q)id"f;unr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Acetic acid is used for: etk (1)
(A) Food preservation oL S5/ /1.7 (B) Cure sting of bee Lk f 35.0’( 19
(C) Manfacturing of bleaching powder (£4.¢ Jig_fjf (D) Remove grease stain zf.éé’.%‘f,bf.&/ﬁ

(2) Main component of natural gas is: ?ewfdu;?-'ﬁ’&ff )
(A) CH, o B) C,H, ofy ©) CH, or  (O) CH, LT

(3) Which compound is not produced in the halogenation of Methane? A Ugfﬁdfﬂf L;fvuﬁf 3)
(A) Chloromethane c,:*';’:L,‘ (B) Chloroform .plémg
(C) Carbon tetrachloride X141 Zur¥ (D) Carbon black ¢

(4) Pitch is black residue of: RO & @
(A) Coke (B) Coal ¥ (C) Coal Tar AUy (D) Coal gas V24

(5) Which one of the given compound is tasteless? oSN S S Ll (B)
(A) Monosaccharides Sy (B) Disaccharides Jl’l/(’SiS (C) Sucrose Y (D) Polysaccharides Jiﬂf‘dg

(6) The percentage of Nitrogeninairis % by volume. _.%&mé o J%j-’tﬁuf;t%uffx (6)
(A) 78.09 (B) 20.94 (C) 0.93 (D) 0.01

(7) Identify the green house gas: -g:r Lﬁ}i‘)&f{ﬁyqf (7
(R) NO, XS T3t B)CO, X Tk (€50, SThs O ¢ty Ak

(8) Which gas causes depletion of ozone layer? ?‘»:_h,,szJ)ﬂi}?d/.‘?J L;injfu’fdcjf (8)
A) Ct, g (B) NH, Lri €) CFCt, ok (D) NO, S TJ3se

(9) The permanent hardness of water is removed by using: ?‘Lﬂgy?} c—_,d&»"ﬂ&f dejg;pf&51§¢4%{gf du (9)
(A) Lime stone w#7#I (B) Soda lime (113> (C) Sodium-Zeolite 403> (D) Baking soda 13y

(10) Liver inflammation disease is called: AN Y L)
(A) Jaundice /6y (B) Hepatitis u*'“’e%; (C) Night blindness c;,wK_-..u (D) Cholera .21

(11) The formula of urea is; —e Ul (1)
(A) NH,COONH,  (B) NH,CONH, (C) NH,CONH, (D) NH,COONH,

(12) When reaction cease to proceed the state is called _____. au;?c“;'f ___m_f.:v’w _w*f.ﬂzﬁjwﬁgld;g (12)
(A) Chemical equilibrium (£ 1< (B) Dynamic equilibrium £Z# (L E13
(C) Static equilibrium A | G- (D) Equilibrium constant 2276 f G
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OBJECTIVE KEY FOR SSC ANNUAL EXAMINATION ,2022. ,7)
Name of Subject._ CA i< By Session: 2220 — ﬁ/‘)/)/

i Group : 1st Group: 2nd
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Q. |Paper Code | Paper Code | Paper Code | Paper Code Q. | Paper Code | Paper Code | Paper Code Paper Code
nos | 378/ | 3483|3485|3787| |nos| 3482 | 3587 | 3986 | 3988
1| B B D & 1] ¢ D D A

2| A | D D A 2| A A C A

3| C = B D 3 | A R D b

i | A D D D a | D G A C

s |°'D | A C B 51 € & A D
1D [ € 1D [ b pIB ¢ | A

1 B | B | A C Al Tl e B

s | D | A C D s | B cC | B C

s | C | ¢ B | A s | C A & &

0| D 4 A c 0| C A C 2
1| A D a B 11| R D A &

2| C D A A o e A €T

- 2 P il " ' ’ i -
13 2] [ . 14 ; o o 7
sy [ 7] 7 AR SO Y

13 i // 16 | f: / / /

17 A L B ey
P4 . lJK/1 /1 7

19 s 1) k] of 7

20| 7~ 20
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F2022u1sil-K 2o22 f o473 u;/ B Gﬂ‘(uﬂ A
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